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Instruction Set

|12 11/ 10 9| 8 | 7| 6| 5] 4| 3] 2| 1| 0 || name | instruction | description
0000 rd 000 000 zero' | zero rd $rd := 0
0000 rd IS 001 not! | not rd rs $rd := !$rs
0000 rd IS 010 inv' inv rd rs $rd := -$rs
0000 rd IS 011 sl1t sll rd rs $rd := $rs << 2
0000 rd rs 100 srlt srl rd rs $rd := $rs >> 2
0000 rd IS 101 sla’ sla rd rs $rd := $rs * 2
0000 rd rs 110 sra’? | sra rd rs $rd := $rs / 2
0000 rd TS 111 cpt cp rd rs $rd := $rs
0001 rd rs rt or’ or rd rs rt $rd := $rs | Srt
0010 rd IS rt and' | and rd rs rt | $rd := $rs & $rt
0011 rd IS rt add! | add rd rs rt | $rd := $rs + $rt
0100 rd IS rt sub! | sub rd rs rt | $rd := $rs - $rt
0101 rd rs rt I 1t rd rs rt $rd :=Prs < 8rt71:0
0110 rd rs rt gt gt rd rs rt $rd :=S8rs > 8rt 7 1: 0
0111 rd IS rt eq’ eq rd rs rt $rd ;= $rs=9%rt 7 1:0
1000 rd IS rt neq!’ | neqrd rs rt | $rd :=S%rs!=$rt 2 1: 0
1001 rd rs u. imm? lw lw rd rs imm | $rd := MEM[$rs+imm|]
1010 rd rs u. imm? SW sw rd rs imm | MEM[$rs+imm]| := $rd
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Instruction Set

12 111 10 9 | 8| 7| 6| 5| 4| 3| 2|10 name | instruction description
0000 rd 000 000 zerol | zero rd $rd == 0 )
0000 rd TS 001 not’ | not rd rs $rd := $rs
0000 rd rs 010 inv’ | inv rd rs $rd := -$rs
0000 rd IS 011 sl sll rd rs $rd := $rs << 2
0000 rd rs 100 srlt srl rd rs $rd := $rs >> 2
0000 rd rs 101 sla’ sla rd rs $rd := $rs * 2
0000 rd rs 110 sra’? | sra rd rs $rd := $rs / 2
0000 rd rs 111 cpt cp rd rs $rd := $rs
0001 rd rs rt or’ or rd rs rt $rd := $rs | Srt
0010 rd rs rt and | and rd rs rt | $rd := $rs & $rt
0011 rd IS rt add’ | add rd rs rt | $rd := $rs + $rt
0100 rd rs rt sub! | sub rd rs rt | $rd := $rs - $rt
0101 rd rs rt It it rd re Tt $rd :=$rs < $rt 7 1:0
0110 rd rs rt gt gt rd rs rt $rd :=S8rs > 8rt 7 1: 0
0111 rd IS rt eq’ eq rd rs rt $rd :=$rs=98rt 72 1: 0
1000 rd IS rt neq!’ | neqrdrsrt | $rd:=%rs!=$rt 2 1: 0
1001 rd _ ) rd rs imm | $rd := MEM]|[$rs+imm]
1010 rd Zero Instruction  rd rs imm | MEM[$rs+imm]| := $rd
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Instruction Set

| 12| 11| 10| 9 | 8 | 7 | 6 | 5 | 4 | 3 | 2 | 1 | 0 || name | instruction | description |
0000 rd 000 000 zero- | zero rd $rd := 0
~ 0000 rd IS 001 not’ | not rd rs $rd := !$rs By
/ 0000 rd IS 010 inv' inv rd rs $rd := -$rs \
0000 rd rs 011 sll* sll rd rs $rd := $rs << 2
0000 rd s 100 srlt srl rd rs $rd := $rs >> 2
0000 rd IS 101 sla’ sla rd rs $rd := $rs * 2
0000 rd rs 110 sra’? | sra rd rs $rd := $rs / 2
0000 rd rs 111 cpt cp rd rs $rd := $rs
0001 rd rs rt or’ or rd rs rt $rd := $rs | Srt
0010 rd IS rt and’ | and rd rs rt | $rd := $rs & $rt
0011 rd IS rt add?! add rd rs rt | $rd := $rs + $rt
0100 rd s rt subl! sub rd rs rt | $rd := $rs - $rt
0101 rd IS rt 1tt 1t rd rs rt $rd :=%rs<8rt71:0
0110 rd rs rt gt gt rd rs rt $rd :=S8rs > 8rt 7 1: 0
\ 0111 rd IS rt eq’ eq rd rs rt $rd :=$rs=98rt 72 1: 0 /
1000 rd IS rt neq! | neq rd rs rt | $rd :=$rs!=$rt 7 1: 0 _
1001 rd _ _ ' rd rs imm | $rd := MEM[Srs+imm]
1010 rd Register Instructions |4 rs im MEM [$rs+imm)] := $rd
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Instruction Set

| 12| 11| 10| 9 | 8 | 7 | 6 | 5 | 4 | 3 | 2 | 1 | 0 || name | instruction | description |

0000 rd 000 000 zero~ | zero rd $rd := 0

( 0000 rd s 001 not! not rd rs $rd := $rs \
0000 rd IS 010 inv' inv rd rs $rd := -$rs
0000 rd rs 011 sll* sll rd rs $rd := $rs << 2
0000 rd s 100 srlt srl rd rs $rd := $rs >> 2
0000 rd IS 101 sla’ sla rd rs $rd := $rs * 2
0000 rd rs 110 sra’? | sra rd rs $rd := $rs / 2

\_ 0000 rd rs 111 cpt cp rd rs $rd := $rs Yy,
0001 rd rs g or+ or rd rs rt rd := drs | ort
0010 rd IS rt and’ | and rd rs rt | $rd := $rs & $rt
0011 rd IS rt add?! add rd rs rt | $rd := $rs + $rt
0100 rd s rt subl! sub rd rs rt | $rd := $rs - $rt
0101 rd IS rt 1tt 1t rd rs rt $rd :=%rs<8rt71:0
0110 rd rs rt gt gt rd rs rt $rd :=S8rs > 8rt 7 1: 0
0111 rd IS rt eq’ eq rd rs rt $rd :=$rs=98rt 72 1: 0
1000 rd IS rt neq!’ | neqrd rsrt | $rd :=%rs!=$rt 2 1: 0
1001 rd _ ¥ rd rs imm | $rd := MEM[$rs+imm]
1010 rd Unary Operatlons b rd rs imm | MEM[$rs+imm] := $rd
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Instruction Set

| 12| 11| 10| 9 | 8 | 7 | 6 | 5 | 4 | 3 | 2 | 1 | 0 || name | instruction | description
0000 rd 000 000 zero® | zero rd $rd := 0
0000 rd IS 001 not! not rd rs $rd := !9rs
0000 rd IS 010 inv' inv rd rs $rd := -$rs
0000 rd rs 011 sll* sll rd rs $rd := $rs << 2
0000 rd s 100 srlt srl rd rs $rd := $rs >> 2
0000 rd IS 101 sla’ sla rd rs $rd := $rs * 2
0000 rd rs 110 sra’? | sra rd rs $rd := $rs / 2
0000 rd IS 111 cp! cp rd rs $rd := $rs
0001 rd rs rt or’ or rd rs rt $rd := $rs | Srt \
0010 rd IS rt and’ | and rd rs rt | $rd := $rs & $rt
0011 rd IS rt add?! add rd rs rt | $rd := $rs + $rt
0100 rd s rt subl! sub rd rs rt | $rd := $rs - $rt
0101 rd IS rt 1tt 1t rd rs rt $rd :=%rs<8rt71:0
0110 rd rs rt gt gt rd rs rt $rd :=S8rs > 8rt 7 1: 0
0111 rd IS rt eq’ eq rd rs rt $rd :=$rs=98rt 72 1: 0
1000 rd rs rt neq' | neq rd rs rt | $rd :=8rs!=$rt 7 1: 0 j
1001 rd _ _ VY rd rs imm | $rd := MEM[$Srs+imm]
1010 rd Binary Operations b rd rs imm | MEM[$rs+imm] := $rd
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Instruction Set

| 12| 11| 10| 9 | 8 | 7 | 6 | 5% | 4 | 3 | 2 | 1 | 0 || name | instruction | description

0000 rd 000 000 zero' | zero rd $rd := 0

0000 rd IS 001 not! not rd rs $rd := !9rs

0000 rd IS 010 inv' inv rd rs $rd := -$rs

0000 rd rs 011 sll* sll rd rs $rd := $rs << 2

0000 rd s 100 srlt srl rd rs $rd := $rs >> 2

0000 rd IS 101 sla’ sla rd rs $rd := $rs * 2

0000 rd rs 110 sra’? | sra rd rs $rd := $rs / 2

0000 rd rs 111 cpt cp rd rs $rd := $rs

0001 rd rs rt or’ or rd rs rt $rd := $rs | Srt

0010 rd IS rt and! | and rd rs rt | $rd := $rs & $rt

0011 rd IS rt add?! add rd rs rt | $rd := $rs + $rt

0100 rd s rt subl! sub rd rs rt | $rd := $rs - $rt

0101 rd IS rt 1tt 1t rd rs rt $rd :=%rs<8rt71:0

0110 rd ys = atl at rd rs rt $rd :=8%rs >8rt 721:0

0111 rd Memory Instructions rd rs rt $rd ;== 8rs =9%rt 7 1: 0

1000 rd bg rd rs rt | $rd :=$rs!=8rt 2 1: 0
lw 1w rd rs imm | $rd := MEM[$rs+imm]
SW sw rd rs imm | MEM]|$rs+imm] := $rd
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